3. B npamoyroneHoMm napannenenunege ABCDA B, C,D; AB =1, BC = 2,
BB, = 3. BolumcCnnTe KOCWHYC yrna Mexay npaMeimia: a) AC u D,B; 6) AB,
W BCy; B) A;D n AC,.

PemeHune

B npAamMoyronbHoW cicTeme KoopaumHaT: A(2; 0; 0), B(2; 1; 0), C(0; 1; 0),
D(0; 0; 0), A,(2; 0; 3), By (2; 1; 3), C,(0; 1; 3), D4(0; O; 3).

a) AC {-2; 1; 0}, D,B {2; 1; -3},

| -1 +1] _ 5 3
a1 . Ja+1+2 J5 .14 707

COS g=

|21 _ 3 N
J1+9 . Ja+o  Jio.Ji13 130’

COS gr=

8) A,D {-2; 0; -3}, AC, {-2; 1; 3},

|4 -9 _ 5 5
d4+9 . Ja+1+9  J13 {14  Jigz’

COS gr=



